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Read the story about the race
between the hare and the tortoise.
Who do think will win the race?

®

Complete the story with
the past simple form of
the verbs.

Ore day the hare and the
tortoise decided to have a
race. The hare KNEW that he
[0) (can) run faster
than the fortoise. But the
tortoise (2) (be)
more intelligent than the
hare.
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Make Your Mini Book: � HYPERLINK "http://www.eslprintables.com/printable.asp?id=123271#thetop" ��http://www.eslprintables.com/printable.asp?id=123271#thetop� 











